GASTROPARTS

Universal Catalogue » Electric Components »

Energy regulators

Energieregler
Reguladores de energia
Doseurs d’énergie
Regolatori di energia
Regulatory energii

Perynsatopbl aHeprm

B gastroparts@gastroparts.com
. tel. +48 56 657 00 66
@ fb.com/gastroparts.global

GASTROPARTS.COM




energy regulators

EGO.

DIAMOND.
ROBERTSHAW.

UNITED AUTOMATION.
miscellaneous.

204
205
205
205
205

203




® EGO

energy regulators

1-circuit

fig. PartNo. volt. SC turn direction shaft o mounting thread diagram Ref. No.
(v) (A) (mm)
1 380009 230 13 left 6x4.6 M4 ERO1 50.57020.010

50.17071.000
50.27021.010

1 380015 230 13 right 6x4.6 M4 ERO1 50.57011.010

50.57021.010
1 380019 240 13 right 6x4.6 M4 ERO1 50.57071.010
1 380014 400 7 left 6x4.6 M4 ERO1 50.57030.010
1 380013 400 7 right 6x4.6 M4 ERO1 50.57031.010
2 380036 230 13 right 6x4.6 M12x1 ERO1 50.57024.010
2 380035 240 13 left 6x4.6 3/8"-24UNF ER0O2 50.59070.048
3 380046 240 13 left 6x4.6 M4 ER0O2 50.59070.051
4 380935 240 13 right 6x4.6 M4 ERO1 50.57071.150
5 380879 240 13 right 5x4 1/8” ERO1 50.52076.070
5 381160 240 13 right 5x4 1/8” ERO1 50.57076.070

Diagrams may be found at the end of the chapter

circuit

1
fig. PartNo. volt. - turn direction shafto mounting thread diagram Ref. No.
(V) (R) (mm)
1 380027 230 13 right 6x4.6 M4 ER08 50.55021.100
1 380028 400 7 right 6x4.6 M4 ER08 50.55031.100
2 381304 230 13 right 6x4.6 M4 50.55071.100
3 376048’ 230 13 right 6.4x4.8 M4 ER0O8 50.55021.171
4 380024 240 13 right 6x4.6 M4 ERO3 50.67079.601
'with cable

Diagrams may be found at the end of the chapter

204 Pelna oferte czesci zamiennych znajdziesz na gastroparts.com


https://www.gastroparts.com/pl/part-110677
https://www.gastroparts.com/pl/part-100087
https://www.gastroparts.com/pl/part-130989
https://www.gastroparts.com/pl/part-101566
https://www.gastroparts.com/pl/part-110681
https://www.gastroparts.com/pl/part-130995
https://www.gastroparts.com/pl/part-130994
https://www.gastroparts.com/pl/part-154706
https://www.gastroparts.com/pl/part-154803
https://www.gastroparts.com/pl/part-148757
https://www.gastroparts.com/pl/part-168294
https://www.gastroparts.com/pl/part-110686
https://www.gastroparts.com/pl/part-142129
https://www.gastroparts.com/pl/part-171524
https://www.gastroparts.com/pl/part-171030
https://www.gastroparts.com/pl/part-110685
https://www.gastroparts.com/pl/part-130997
https://www.gastroparts.com/pl/part-130996
https://www.gastroparts.com/pl/part-130998
https://www.gastroparts.com/pl/part-142130
https://www.gastroparts.com/pl/part-131000
https://www.gastroparts.com/pl/part-131001
https://www.gastroparts.com/pl/part-154746
https://www.gastroparts.com/pl/part-171525
https://www.gastroparts.com/pl/part-171528
https://www.gastroparts.com/pl/part-171527
https://www.gastroparts.com/pl/part-171526
https://www.gastroparts.com/pl/part-154794
https://www.gastroparts.com/pl/part-130999

DIAMOND/ROBERTSHAW/UNITED AUTOMATION/MiSCELLANEOUS @

DIAMOND

fig. PartNo. volt. sC turn direction shafto mounting thread diagram Ref. No.
v) (A) (mm)
1 380038 24 13.5 right 6x4.6 3/8"-24UNF ERO5 35ERE105024V
1 380037 240 13.5 right 6x4.6 3/8”-24UNF ERO5 35ERE101230V
1 380039 400 13.5 right 6x4.6 3/8”-24UNF ERO5 35ERE104400V
2 380032 230 13.5 right 6x4.6 M4 ERO4 45ER104C1
Diagrams may be found at the end of the chapter

ROBERTSHAW

fig. PartNo. volt. sC turn direction shaft o mounting thread diagram Ref. No.
(V) (A) (mm)
1 380041 240 15 left 6x4.6 8"-32UNC ER06 INF-240-1165
2 380042 240 15 left 3.5x3.5 8"-32UNC ERO6 INF240TP1211
3 380858 240 15 right 6x4.6 8"-32UNC —
Diagrams may be found at the end of the chapter

UNITED AUTOMATION

(%]
S
[e]
b
o
>
(o)}
()
S
Py
(@)}
@
fig. PartNo. volt. SC turndirection shafte  mountingthread equiv.no. fig. PartNo. volt. SC turndirection shafte  mountingthread equiv.no. c
v) (A (mm) v) (A (mm) v
1 381305 240 15 right 6.3 M10x0.75 A13202E 2 381307 240 15 right 6.3 M10x0.75 A14232E 3
1 381308 240 15 right 5.6x6.4 M10x0.75 A11203E 3 381306 240 17 right 6.3 M10x0.75 A13218E

miscellaneous

1
fig. PartNo. volt. sC turn direction shafto mounting thread diagram suitable for Ref. No.
(V) (A) (mm)
1 380925 230 16 right 6x4.6 M4 Bonamat 6.004.005.003
2 380040 200-250 13 right 4.8x4.1 3/8"-24UNF ERO7 — —

Diagrams may be found at the end of the chapter

Pelng oferte czesci zamiennych znajdziesz na gastroparts.com 205


https://www.gastroparts.com/pl/part-130997
https://www.gastroparts.com/pl/part-130996
https://www.gastroparts.com/pl/part-130998
https://www.gastroparts.com/pl/part-142130
https://www.gastroparts.com/pl/part-131000
https://www.gastroparts.com/pl/part-131001
https://www.gastroparts.com/pl/part-154746
https://www.gastroparts.com/pl/part-171525
https://www.gastroparts.com/pl/part-171528
https://www.gastroparts.com/pl/part-171527
https://www.gastroparts.com/pl/part-171526
https://www.gastroparts.com/pl/part-154794
https://www.gastroparts.com/pl/part-130999

@ DIAGRAMS FOR ENERGY REGULATORS

ERO1 ER02 ERO4 ERO5

ERO6 ERO8

wv
S
o
b
L
>
(o)
]
S
>
Q)
S
J]
c
(]
3

206 Pelna oferte czesci zamiennych znajdziesz na gastroparts.com



GASTROPARTS.COM

arts Sp. J. All rights reserved.



	Bookmarks from 1.pdf
	Strona 1

	Bookmarks from 2.pdf
	Strona 1

	Bookmarks from universal_03.pdf
	Bookmarks from backcover_electric.pdf

